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NEW QUESTION 1
Which plane is responsible for creating and deleting network objects in the NSX-T Data Center Architecture?

A. Control Plane
B. Data Plane
C. Life Cycle Plane
D. Management Plane

Answer: D

NEW QUESTION 2
How does virtual networking enable business to reduce time-to-market?

A. By performing automatic hardware upgrades
B. By increasing traffic bandwidth
C. By removing physical network devices
D. By providing network services on demand

Answer: D

Explanation: 
Reference: https://www.vmware.com/radius/virtual-cloud-networking-10-things/

NEW QUESTION 3
Which component needs to be available for the ESXi hosts to be able to enable vSphere High Availability?

A. 10Gbps network interfaces
B. Direct attached disks
C. Shared data storage
D. Dual CPU sockets

Answer: C

Explanation: 
Reference: https://www.vladan.fr/how-to-configure-vmware-high-availability-ha-cluster/

NEW QUESTION 4
Which product in the virtual infrastructure layer of the SDDC provides network virtualization capabilities?

A. VMware NSX
B. VMware vSphere
C. VMware vRealize Network Insight
D. VMware vSAN

Answer: A

Explanation: 
Reference: https://docs.vmware.com/en/VMware-Validated-Design/5.0/com.vmware.vvd.sddc-design.doc/GUID-2E9FE367-8295-49CB-9C21-B615B543D705.html

NEW QUESTION 5
A customer needs to secure two virtual machines that are attached to the same segment.
How can the customer achieve network security using NSX Data Center?

A. Configure a distributed firewall rule
B. Move one of the virtual machines to a separate segment
C. Configure a physical firewall rule
D. Install a personal firewall on each virtual machine

Answer: A

NEW QUESTION 6
What are two characteristics of a Software Defined Networking (SDN) solution? (Choose two.)

A. It allows workloads to be placed and migrated anywhere in the network.
B. It is dependent on the underlying physical routers and switches.
C. It is decoupled from the physical networking infrastructure.
D. It contributes to layer 2 network sprawl.
E. It restricts the placements of virtual machines and containers.

Answer: AC

Explanation: 
Reference: https://www.vmware.com/topics/glossary/content/software-defined-networking
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NEW QUESTION 7
......

Passing Certification Exams Made Easy visit - https://www.surepassexam.com



Recommend!! Get the Full 1V0-41.20 dumps in VCE and PDF From SurePassExam
https://www.surepassexam.com/1V0-41.20-exam-dumps.html (58 New Questions)

Thank You for Trying Our Product

We offer two products:

1st - We have Practice Tests Software with Actual Exam Questions

2nd - Questons and Answers in PDF Format

 

1V0-41.20 Practice Exam Features:

* 1V0-41.20 Questions and Answers Updated Frequently

* 1V0-41.20 Practice Questions Verified by Expert Senior Certified Staff

* 1V0-41.20 Most Realistic Questions that Guarantee you a Pass on Your FirstTry

* 1V0-41.20 Practice Test Questions in Multiple Choice Formats and Updatesfor 1 Year

 

100% Actual & Verified — Instant Download, Please Click
Order The 1V0-41.20 Practice Test Here

Powered by TCPDF (www.tcpdf.org)

Passing Certification Exams Made Easy visit - https://www.surepassexam.com

https://www.surepassexam.com/1V0-41.20-exam-dumps.html
http://www.tcpdf.org

